MASYU

Draw a single continuous non-intersecting loop that passes through all
black and white circled cells in the grid. 'ﬁ1e loop must enter each cell it
passes through from the center of one of its four sides and exit from a
different side; therefore, all turns are 90 degrees.

The loop travels straight through the white circles and must turn in the
previous and/or next cell in its path.

The loop turns at the black circles, and it must travel straight through the
next and previous cells in its path.
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